

ESTIMATE ESTIMATE DATE	#11859 Sep 5, 2023
TOTAL	\$7,070.60

Town of McCordsville Town of McCordsville 6280 W 800 N McCordsville, IN 46055 **CONTACT US** 

4840 E 23rd St

Indianapolis, IN 46218

(317) 762-8053

sales@housewashindy.com



## **ESTIMATE**

Services	qty	unit price	amount			
Holiday Lighting - C9 Warm White Custom Install, All Season	140.0	\$6.50	\$910.00			
Maintenance, and Removal						

Front of building roofline.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - C9 Warm White Custom Install, All Season 135.0 \$6.50 \$877.50

Maintenance, and Removal

Side of building roofline.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights

- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - C9 Warm White Custom Install, All Season 105.0 \$6.50 \$682.50

Maintenance, and Removal

Shelter roofline.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - Minis Warm White Custom Install, All Season 1.0 \$429.00 \$429.00

Maintenance, and Removal

Large evergreen on on front building corner.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - Minis Warm White Custom Install, All Season 3.0 \$109.00 \$327.00

Maintenance, and Removal

3 small evergreens along the entry drive.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - Minis Warm White Custom Install, All Season 1.0 \$429.00 \$429.00

Maintenance, and Removal

Large evergreen by shelter.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - C9 Warm White Custom Install, All Season 3.0 \$949.00 \$2,847.00 Maintenance, and Removal

3 Extra Large Evergreens at Old School Park.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - C9 Warm White Custom Install, All Season 72.0 \$6.50 \$468.00

Maintenance, and Removal

Old School Park Shelter.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down and Safe Storage
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - Minis Warm White Custom Install, All Season 6.0 \$69.00 \$414.00 Maintenance, and Removal

3 Evergreen bushes on either side of front door. 6 Total

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

## Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down and Safe Storage
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Holiday Lighting - Minis Warm White Custom Install, All Season

3.0 \$329.00

\$987.00

Maintenance, and Removal

3 Trees along front edge of parking lot.

Christmas Lights Indy uses environmentally friendly LED lights. A time-tested technology that is now available for outdoor holiday lighting. The lights use 80-90% less energy than conventional mini-lights, and last up to 200,000 hours (compared to mini lights at about 1000 hrs), which is friendlier to the environment, and creates less impact on the landfill and less money spent on power out of your pocket.

Whats included:

- -Professional Holiday Lighting Design
- -All LED lights
- -Custom Install
- -No Cost Maintenance All Season
- -Take down and Safe Storage
- -A happy and fun crew of "Roof Elves" that love lighting up the holiday!

Services subtotal: \$8,371.00

Subtotal	\$8,371.00
Year 2	- \$1,300.40

Total \$7,070.60

Thank you for choosing us to light up your Holiday!.

Payment Due on Completion of Install

2nd year 20% off

3nd year additional 10% off

This is a full service program and includes:					
-No Contract					
-Install					
-Maintenance					
-Takedown					

Pricing remains locked in after 3rd year unless items are added or removed.